Chapter 4: Work, Power and Energy

1. ML*T?is the dimension of — Al Board-1 8] 12. Which one is the main fuel of thermal power station?
i. Work done per unit time 158 2017}
ii. Power Coal ® Mineral oil
iil. Energy used per unit time © Wind @ Solar energy (2]
Which one of the following is correct? 13. At what condition the Kinetic energy of a body will
® iandii ® iandiii be 16 times? [8.8-/7)
® iiand iii @ i, ii and iii (] mass twice, velocity twice
Observe the figure below and answer the questions on. 2 ® mass eight times, velocity half
and 3 : fAll Board-18] € mass four times, velocity unchanged

@ mass unchanged, velocity four times ]
14. Which one is the correct transformation of energy of

a running fan? /& 4.i7]

@ Electric energy — magnetic energy — mechanical
energy — heat cnergy

@® Electric energy — mechanical energy — sound
encrgy — heat energy

& Electric energy — heat energy — magnetic energy

2.  What is the potential energy of the body at point B? —ymechanical energy
mgh; ® mgh, {@ Electric encrgy — mechanical encrgy — magnetic
© mg (hy % hs) @ mg (hy —5_"23 : (0] energy — heat energy (]
3. While falling freely at which height the Kkinetic 15. A machine is able to lift 200kg of object vertically up
energy of the :hjecl will be three times of the to a height of 30m above the ground in 50s. What is
potential energy” the power of the machine? [g = 10 ms™] /0.8-16/
@ L @l‘j: ® 0.12KW ® 12KW
4 © 6.0KW @ 300 KW (b}
® ng_h: @ ﬂll_h: ® 16. J}:giﬁgjune of the following is renewable energy?
4.  An electric motor lifts a body of mass 2 kg by Sm and @ Petrol & Gas
consumed 107 of energy. What amount of energy is @ Coal @ Water d]
wasted by the motor? jD.8.-17f 17. A car of 1000 kg mass is moving with 10ms™
6] & 9) velocity. What is the kinetic energy in joule?
® 10) @ 49] ® B 5 10° ® 5% 10
5.  What is the dimension of energy? jD8-/7/ 7
© ML2T? @ MLT? o 18. ;f'r'hil‘.‘h one is the correct for freely falling body?
R.8.-16)
6. Which one is the dimension of power? fig-/ 7} @ The potential energy 1% increased
@ MLT? ® MLT! @& The kinetic energy is decreased
© ML7T? @ MLT? o @ Potential energy and kinelic energy are equal
7. Ifarunner of 60 kg passes 100m distance within 12.5 @ The kinetic enerpy is increased Ld ]
sec, how many kinetic energy in joule will be? ;2 5.17/ 19, Which one is a part of mechanical energy? /R 516/
240 & 480 @ Chemical encrgy & Kinetie energy
© 1920 @ 3840 (] © Electrical energy @ Magnelic energy
8. What is the power (in watt) of a boy of mass 40 kg if 20. What is the unit of potential energy? /C.#-/5/
he steps up 6m high stair in 1287 /.87 ® r;ﬂa; % }‘i“;'m” ®
@ 20 ® 3266 © Wan oule
© 1% @ 76 ® % Blemeaingmmo iy ity
9, ::I*I::'::g?::‘i:;;i";? for the energy conversion of a & Kinetic enieray & Potential siléray .
e . Chemical energy @ Heat energy
Mechanical energy — Chemical energy © . .
& Chemical energy — Mechanical energy 2. Lnézﬂ;?ﬁz:m::ﬁf :‘;Ehﬁl:;?::f:: :IET?T Er ﬂ}c boy
© Thermal energy — Chemical energy @ 20W ® 326TW
@ Chemical energy — Electrical energy ) @ 196W @ 2352W (]
10. A body of mass 5 kg was dropped from the roof of a 23, Which one of the following is product of force and
building. What will be the Kinetic Energy just before velocity? /S.8.-14/
it touches the ground? jCig 5-17) Work & Energy
245] ® 8451 @ Power @ Momentum (]
® 1225) @ 2450 ® 24. Which is correct relation between Kinetic energy and
11. A boy of mass 50 kg runs with a velocity 7ms™, What momentum? /5.8..16/
is his kinetic energy? /S8.-/7/ . P TR | .
@ 350 ® 490) " ® Ex=34 ® Ee=",
12251 3430 , i 2P
© ® @ Ex=35— @ E==- ©
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In the equation E = mc’, m i5— [N A -/6)

@ Mass of nucleus & Lost mass of nucleus

@ Alomic mass @ Mass of uranium h]
What will be the potential energy of a body of mass 7
kg if it is raised to a height of 2000 cm above the
surface of the earth? [g = 19.8ms™"| (18- 2016/

@ 13721 ® 32.67)

@ 11767 @ 1376 ] )
If we throw stones at mango it may fall down for

which energy? [J8.-16)
@ Used energy

© Kinctic energy

& Potential cnergy
@ Solar energy c]

A B

Which energy is stored at point A? \15.-/4/

@ Kinectic energy {# Mechanical energy

© WNuclear energy @ Potential energy d]
The sum of the kinetic and potential energy of the

molecules of a substance is called which energy”
[ Bl

@ Stored cnergy

& Absolute potential energy

© Absolute kinetic energy

@ Internal energy ®
A runner whose velocity is 7 ms™' and mass 60 kg, then

the Kinetic energy is—a.5.-/6/

@ 100 ® 1911J

© 18751 @ 1470 [d]

In the point & what will be the kinetic energy?
[BEB-16)

@ mgh & mg (h-x)
® 2 mgx @ mgx ]

Which of the following words is regarding

petroleum? [Crg 5-17]

i. Pewroleum is Greek word

ii. Petroleum products are used mainly to produce
electric and mechanical energy

iii. There is nothing like petrol to be used as fuel of

vehicle
Which one of the following is correct?
iand ii [%iiandil't
® iand iii @ i, ii and iii (b

A body falls freely under the action of gravity, the
changes of energy are — [[24-/4/

i. the potential energy is decreased

ii. the kinetic energy is increased

iii. total energy is unchanged

Whiien vz is correct?
@ 1and ii

© ii and iii

@ iand iii
@ i, ii and iii ®

me the figure below, answer the question no. 34 and 35:
D.8.-17)

R F

Q «
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e

W
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34, What will be the Kinetic energy of the freely falling
body at point Q if it falls from R?
0 ® mgx
® mgh @ mg(h-x) (d]

35, In case of a free falling body from point R —

i. The body will gain velocity

ii. The Kinetic energy will be transtormed into potential

energy

iii. Velocity will increase as distance increases

Which one is correct?

@ iandii & iand iii

@ iiand iii @ i, ii and iii o
On the basis of the following fig. answer questions
number 36 and 37: /C8-17/

(S

I0m 1
LT
36. What is the potential energy at peint 47
2940] & 2900J
© 2840 @ 28001 4]
37. On the basis of the above fig. which is correct?
@ The potential energy at point C is more than at B.
(& The kinetic energy at point C is more than at point B.
(© The kinetic energy at point C is more than the
potential energy at point B,
@ The potential energy at point C is less than the
kinetic energy at point B, b
Read the stem carefully and answer questions no. 38 and 39:
A body of mass 10 gm is thrown vertically upward. It comes
to the ground after 10 seconds, (g f-17)
38. For the object —
i. Starting velocity was 49 ms™
ii. Maximum height will be 122.5 m
iil. The potential at maximum height will be 100J
Which one of the following is correct?
@ iandii CE) ii and iii
®© i and iii @ i, ii and iii (3]
39. How will be the velocity at the time of touching the
round with respect to starting velocity?
Same velocity & Less velocity
€ More velocity @ Double velocity (a)
Answer the questions no. 40 and 41 reading the following
stem: [/ &.-/7f
A carpenter is being made to enter 4 nail into a wood by a
hammer,
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40. What type of energy transformation takes place ground. Answer the question No. 44 and 45 according to

when the carpenter lifts }he hammer up? the figure: —/D 5. 16]

@ Heat cnergy —» Potential energy 44. What is the potential energy of the object at the

® Chemical energy — Potential energy point of A?

€y Mechanical energy — Potential energy 980 ® 981

@ Potential energy — Mechanical energy ® ® 98] @ 098] 2]
41. What type of energy transformation takes place 45. The figure reveals that —

when the hammer falls down?

(& Potential encrgy — Kinelic energy — Sound energy

(& Chemical energy — Sound energy — Kinetic energy

(€} mechanical encrgy — Kinetic energy — Sound energy

@ Potential energy — Sound energy — Heat energy
According to the picture below answer to the question No.
42 and 43 : j5 816 N

i. Ex—Ep=0atpointB

ii. Epat point A=2xE_ at point C

iii. work done at part AC > work done at part CD

Fa) Which one is correct?

@ iandii ® i and iii

© ii and iii @ i, ii and iii (h]
Answer to the question No, 46 and 47 in the light of the
following stem : (Ly.5.-16]
Force is applied on an object in such a way that the angle

B between applied force and the displacement is O the work
. done is W
e land g=98ms” 46. What will be the measure of the angle 8 in degree if
An object, weight 30kg, is allowed to drop down from the the W =0?
AC @ 30 ® 60
point A [AC = 100m and AB ==~ ® 90 @ 180 (]
42. What will be the maximum velocity of the object? 47. What will be the measure of 0 in degree if the
@ 100 ms™ & 44,72 ms™' measure of work ‘W is the highest?
© 44.27ms™! @ 31.62ms™ [ 180 ® 90
43. According to the above picture — ©® @0 d/
i. the highest potential energy will be in point A’ . m= 1o
ii. potential energy and kinetic energy will be equal in A T
point 'B' L

iii. potential energy of point A is 100 ]
Which one is correct?
@ i&il ® i & iii
Fa ) TFTTTTT?

i & i i i il
G e @538 On the basis of the above stem answer question number
48 and 49: jsB.-16)

T

g

I ! 48. What is the height of potential energy which is five
s u! times kinetic energy from the earth surface?
er==3 19.6m ® 48.8m
| Sm @ 49m )] 50m m
5 49. What is the momentum of a body after 357
An object of 5kg is raised at the point of A from the @ .0294kgms™ ® .294kgms”
© 294kgms™’ @ 29.4kgms” (b
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